
1) 825 x 711

Answer: ____________

2) (10 x 25) - (7 x 47)

Answer: ____________

3) 15/
18 ÷ 19

/11

Answer: ____________

4) 306.44 ÷ 16.3

Answer: ____________

5) Convert the following mixed number 
812/6 into an improper fraction.

Answer: ____________

6)
81

3 /6

Answer: ____________

7) A number was shared in the ratio 
13:26. The smaller share was 54. 
What was the total amount shared?

Answer: ____________

8) Convert the following fraction into a 
mixed number: 37/16

Answer: ____________

9) Find area of 
rectangle having 
sides a = 876 ft 
and b = 153 ft

Answer: ____________

10) Find the mode of the following set of data:

86, 86, 89, 89, 89, 65, 65, 65, 65, 
43, 43, 43, 43, 24, 24, 24, 66, 66

Answer: ____________

11) 31.6 x 12.7

Answer: ____________

12) 'What is the probability of rolling a 
number less than 3.when rolling a 
dice

Answer: ____________

13) 127 - (-984)

Answer: ____________

14)
29  Find Volume of 
                         Hexagonal Pyramid 

21
21

Answer: ____________

15) Convert the following fraction into a 
mixed number: 36/9

Answer: ____________
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16) 'What is the probability of rolling 
factors of 5.when rolling a dice

Answer: ____________

17) b

a o c
Measure angle boa 

Answer: ____________

18) (-288) ÷ (-32)

Answer: ____________

19) Factorise j2 + 9j + 18

Answer: ____________

20)
29  Find Volume of Cone 

20

Answer: ____________

21) Decrease 86 by 4/43

Answer: ____________

22) b

a o c
Measure angle boa 

Answer: ____________

23) Round 8.5195 to 3 decimal places.

Answer: ____________

24) Find the value of 'x' by completing 
the square of the following equation: 
2 + 8x + 15

Answer: ____________

25) 1614/18 x 162/12

Answer: ____________

26) 5% of 82

Answer: ____________

27) 315.7 + 245.7

Answer: ____________

28) Factorise j2 + 9j + 14

Answer: ____________

29) 20/3 - 10/16

Answer: ____________

30) Find perimeter of 
triangle
a = 708 m , b = 733 
m

Answer: ____________
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Total: ___ / 30
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